iz K3-P

EFS HaES ¥E &% HmE H4X ik
1 P-70677 1 ik TAR—X 48 F4ar

2 P-31036 2 N9 (K3-P) PP

2-1 P-31101 2 IT7 /N4 (K3-P) L=——

3 D-00017 2 FAT I5L(K3)

3-1 P-30967 2 =LY (K3) LI § TTI0%E
4 P-70559 2 FL—kF v (K3-P: ¢ 35) PPG 35D

5 P-31079 2 AR FL—k(K3: ¢ 35PP) L=—— 35D

7 P-42199 2 $H5—(K3-P:35mm) $%123 35L

7 P-42333 2 $15— (K3-PT:37mm) $%123 37L §TRBTI0ES
9 P-31042 2 R—ILHAF (K3-P) PPG

10 P-30911 8 #HH R 7V (M5) il M5

10-1  P-30989 8 TI7AVHRTYE (M5, T70Y) Foay M5x 1tx 10D

13 P-10840 2 EEEE (M6,5MZE16mm) sSuUsS M6,544%16mm

15 P-70446 2 R7YLGr—24

16 P-42443 1 %7k (K3-P:36x136) SUS303 36x136

17 P-41634 1 F—LTL—bF

17-1 P-42201 1 F—LTFL—hEHERH/3—30924F) 17°%ay
17-2  P-42266 1 F—LTL—MEER N/ —31228F) 17y
19 P-30132 1 <75—/3yk IN—Ls

20 P-80087 1 P&/ NLTH

23 P-10513 1 T7/8LT (1747 BIL(AFay) FCMB 1/4”D 177y
24 P-30923 1 B/ — F40y

24-1 P-30924 1 BESRAN— (T4 F40r 3/8” 17y
24-2  P-31228 1 HER A/ \— (3£38:3/8" 7400, TILR{T) paal=V 3/8” 177y
25 P-31499 1 HZXybEERAN —FUGK1230N) UGK1230N

25-1  P-30941 1 HRT v b HERH/3—30924, 31228F) UGK1230N 17y
36 P-30933 2 Zbw/i—(25D) NAkLIL 25D

48 P-30944 1 ARy (HSRHAIEA)

48-1 P-30943 1 HESAAE PFA

49 P-31040 2 NILTV—bk 4> (K3-P) PP

49 P-42251 2 INILT S —h, 42 (K3:SUSZTH) SUS

49-2  P-31039 2 INILTS—hk Tk (K3-P) PP

49-2  P-42252 2 NILTO—k, 7R (K3:SUSHTH) sSuUS

51 P-31037 1 A =1x—JLK (K3-P) PP 3/8”

52 P-31038 1 7 b2 =/R—JLEF (K3-P) PP 3/8”

53 P-42287 2 #HaR') > (K3) SUS304 26Dx1tx10L

55 P-30457 4 R—)IL(K3: ¢ 19,770Y) F70v 19D

55 P-31244 4 R— )L (K4-P: ¢ 19, =M1 TY) —kJJL 19D

55 P-31245 4 R—IL (K4-P: p 1901+ i) Nk 19D

55 P-30662 4 R—JL (K3: ¢ 19,SUS) sSuUs 19D

55 P-31156 4 R—IL (RATL2:190 5%L) ATy 19D

55 P-30663 4 AR—JL (K3: ¢ 19,EPR) EPR 19D

60 P-10741 8 7<ARILE (M6x30,SUS) sus M6x30

61 P-10589 12 ANFERIL(MBx25,SUS) sSuUs M6x25

61 P-10860 12 FNARILMMEX25 (71T 05EA8,SUS) sSuUs M6x28 TS
62-1 P-10644 2 A9 2 —FT(M4x16) % M4x16

62-2  P-10645 2 AP 21— (M4x12)7°54Y % M4x12 17y
62-3  P-10643 8 AH1) 21— (M5x12) % M5x12

68 P-31043 2 5% vv7 (K3-P) PPG 3/8”

73 P-10192 20 INREEE(M6,SUS) sus M6

73-1 P-10539 20 T EE$ K(M6x13,SUS) Sus M6x13D

75 P-10280 20 AT Yb(M6:SUS) Sus M6x1

80 P-30072 4 oY (P5,=kYJL) =rJJL 5D

80-2  P-30180 2 oYy 4 (P10,=kYJJL) =k 10D

80-2  P-30528 2 04 (P10, F70Y) F7av 10D

80-2  P-30533 2 07 (P10, /1N( kL) N 10D

80-3  P-30194 6 0y (P1520)I) =k 15D

80-3  P-31126 6 024 (K3:P15,770) F70av 15D

80-3  P-31286 6 04 (K3: P15, 1bY) Ny 15D

80-4  P-31069 4 0') L4 (K3:25x2.5,7 1) Nk 25Dx2.5t

80-4  P-31613 4 0') 24 (K3:24x2.5, 77A0Y) 770y 24x25

80-4  P-31075 4 04 (K3: ¢ 25x2.5t, Zh)IL) =k 25Dx2.5t

83 P-10009 1 —yFIL/4") FCMB 1/4” LY




: K3 PUMP (P type)

Mode |

o= /A\,\> N ¢ <
TG
"

FIAVELTISL \

DHE

%) FATLavTE




